NMMO 401 Continuum mechanics Winter 2018/2019 Deadline 11th October 2018

1. Let A € R¥* be an invertible matrix and let u and v be arbitrary fixed vectors in R such that ve A~ u # —1. Show that
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The formula is usually referred to as the Sherman—Morrison formula.
2. We already know that
eijkeimn = 6jm5kn - 5jn6km’

and let us further assume that we also know that

il (szm 6in
€ijk€mn = det 5jl Sim  Ojn
6.’@1 5krm 5kn

Show that the Levi-Civita symbol satisfies the identities

€ijkCijn = 20,5

€1ik01m = €jkmOi + €im0j1 + €m0k



